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6. What are radiation pattern and bandwidth of

the long wire antenna? RollNo.
Sked uegie Jeelej SCSevee ke eleskedjCe heSve yeC[ ekeoLe hej S-614
Uele kedeepele? B.Sc. (Part Il) Examination, 2015
7. How does an antenna array function to shape COMMUNICATION ELECTRONICS
the radiation pattern? What are the objectives Paper-II
of this shaping? Time Allowed : Three Hours] [ Maximum Marks: 50
Sked SCSevee S eckeime lehedej edeekedjCe heSve ked Deckede Kede Note : Answer five questions in all. Choose at
neejJeelele kedglee n? Fme fekedej me eleekedjCe DeekedejkedjCe kel least one question from each Unit. Ques-
lelepevee kede mhe hedeepell~ tion No.1 is compulsory.
Unit-1V / FleeF-1v N fedue heeUg Delvee ke GOej oeepeS~ felUeked FheieF me kedce-
8. What is inter lacing? What is it used? Explain me-kedce Sked feMve UseveS~ feMve me. 1 Desveleele n~
that what is lost in theory but not in practice. 1. Attempt all parts 2x10=10
F&jucemeic kelee n? Fmetede felieie kelie kehjle n mecePeeF U eled meYe KeC[e fede fespeli-
emeeeevle ™he ce nDee veledmesve Jelengj ce vene nelee n~ (i) Find gain in dB if voltage values are am-

plified by 20%.
Useo JecusSpe ked ceeve ce 2096 kede DeedeOeve feehle e lee
Frekede ceeve B o Deehle kedeepell~

(i) A 75W unmodulated Carrier has 100W
of power after amplitude modulation.
What is ‘m’?
75W Keie kedejUej hede Meeoed Desleece cee[ueve ked heMUeele
100W ne peelee n, “m’ ked ceeve Kede ieCevee KedeepeS~

9. Write short notes on the following :
(a) Aliasing
(b) Delta Modulation
evecve hej meetehle eShhee[Use eueekele:
(a) Seueleeemeie
(b) [uSe cee[ueve
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(ii) Write two technical drawbacks of
Conventioanl A.M.
nejchejeiele DecUsece cee[ueve kede oe kedecslee  Guueke
fedj~
(iv) Give simple circuit for a balanced modu-
lator.
yeueme cee[ueSj ked euele meeQeejCe beejhele kede jUeves
fedeepele~
(v) Why over modulation is problem, when it
OCCUrs.
Deedej cee[ueve neve fej kelee mecemUee GlheVe nelee n?
(vi) What is the sensitivity of a radio receiver?
je[lee meceenked kede medeoveMeeuelee kelee nelee n?
(vii)) What is problem of images in superhet
rodyne receivers?
Sked meejnS meceenked ce Feepeme kede mecemUee keUee n?
(viii) What functions must the IF stage per-
form?
Sked DeeF. Shed.mSpe kei kelee kedeUe nele n?
(ix) How does Marconi antenna perform?
Sked ceejhedevee SCSevee kedme kedele kedjlee n?
(xX) What is PWM?
PWM kilee n?
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Why is modulation needed? Explain AM pro-
cess. find an expression for largest possible
fraction of total power in the sidebands after
AM.

cee[ueve keUee DeedeMUeked n? Sce.Sce. Deoeilee e JUeeKUee
fedeepeUe~ S.Sce. ke heMUeele  GlfeVe heehe heeOkedeDee hed cueS
DeeOckedlece DeceMeked Meskele ked eusUe JUepeked evekedeeuele~
What are the major blocks of a superhet re-
ceiver? What does each do?
Sked mefejnS DeeYeceened ke ceKUe KeC[e ked kedelee kede JUeeKUee
fedcepele~

Unit-11 7 FeieF-11 7Y%
What are two ways of generating SSB signal?
What are advantages and disadvantages of
each?
SSB JUelfeVe kedjve keie oe elesOcUee kedeve mee 2 Gveked Ueee Je
neevelee keie Uslee kedeepele~
Why SSB signal can’t be demodulated by a
diode detector? What is BFO method of SSB
demodulation?
Sked [elee[ e[SkeSj Eeje Sme.Sme.yee. emeiveue hede [ecee [euele
keUee vene ekedlee pee mekealee n? Fmeked e oee [ueve kede yee. Shed. Dee.
2Jee0¢ kelee n?
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